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1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.
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Answer any seven out of ten. izl SIHUBRL Ald<ll syALoL 21U
What is significance of step size in quantization?
5AL2IORUAHL 22U ULD ], HiSed, 9 69 ?

List the data communication techniques.

221 sl 25ells AL M dvl,

When Aliasing effect occurs in PCM process?

PCM WIHAHL HALDA[0L 9552 412 o1l 897

Define slope overload error. How to reduce it?

2AIU BUARELS 2422 | AU R{ld, 520, d 54l <ld 8218 as1a ?
Write full name of “VOCODER” and “MODEM”.
“VOCODER” and “MODEM” Yz 1+ QUi

What is entropy? Explain.

2121l 989 7 Aol

What is Constellation diagram? Draw constellation diagram of 8 QAM
signal.

512282 SPUAM L 89 7 8 QAM [A24a HIZ 5le22& SIAAM ZIR,

State advantages & disadvantages of ASK.

ASK L 4l i A2el™, Quil,

Draw ASK and FSK modulated signals for signal for bit pattern 10010 1.
10010 10ilzuzaHiz ASK vt FSK Hig1a2s [Riv4 2l

Why noise immunity of FSK & PSK systems is better than ASK?
FSK vt PSK «l <162 &#4eile ASK 521 54 1<l £9?

Write a short note on ADM (adaptive delta modulation).
ADM (2312l de2l HigAALA) U 25 liH i,

OR
Explain sample & hold circuit.
AU 2, $les As[2 Aumal.

Explain merits &demerits of PCM.
PCM L $142121 i<l ARSIA212AL AHAA,
OR
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Explain companding with necessary diagram.
o3 2U5cl<l Heedl suildor uumal.

Write down statement of sampling theorem. With suitable example discuss
about concept of Nyquist criterion.

-

Avu (o 21124 < [Qa quil. 2004 Gelsil U1d Alfsaz2 sid2(al sane <L Al 520

OR
Explain block diagram of regenerative repeater.
Asx221a Lil2zl oells S UHMA,

Explain the working of differential PCM (DPCM) transmitter and compare
with PCM.

(2521414 PCM (DPCM) 2iz#l22 il s1iusa(d :AHmAlL 21 PCM 412 43v14l,
OR

Define and explain: slope overload error and granual noise error.

AL 520 2Aed UHMAL 2ATUBUAZELS 1R Vi Af2AE, Al VA2,

Explain the working of QPSK modulator.
QPSK Higdzz-l stusala uxmdl,

OR
Explain the working of QPSK demodulator.
QPSK {luiga@zz<il stiusala uumal,

Write a short note on MSK (Minimum Shift Keying) modulation technique.
MSK ([H[A#HH gils2 51501) Higaaaid 25<ils Uz 25 <l @vil,
OR
Draw the block diagram of FSK modulator and explain working of it.
FSK Hig4@22ell 6alls SPUALH EIRL 4l d<il stusafd aumal.

Explain the principle of 8-PSK and draw the constellation diagram.

8-PSK -l [MRAMaA AUl wi §22890 1AM EIRL,

OR
Define channel capacity & derive its relation in terms of SNR.
AAd, U2 AL 4t L 2L B Al SNR AL UE UL A6, 1240,

What is the difference between QPSK & OQPSK? What are the advantages
of QPSK over BPSK?

QPSK 21, OQPSK 942 4 dsldd £9? QPSK il BPSK U <L 5142121l 4 £9?
OR

Draw the modulated waveform of ASK, FSK &PSK for digital sequence
10011011101.

-~

fawed s 10011011101 HIZ ASK, FSK 214 PSK L Hig4d2s 44514 2iR.

What is difference between error detecting code and error correcting code?
Give the example of each.
A&, LIHAL HIZeAL 518 2Ael A YHIRAL HIZAL 518 422 9 dslAd 697 £35 < 245 GELREL
WU,

OR
Explain important Handshaking signal of RS-232.
RS-232 <Al Hesed <Al G251 [0 A1,

What is importance of standards? Compare RS-232 with RS-422.
22188 4 Hed 9 697 RS-232 <il dat-ll RS-422 12 53,
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Give the difference between Synchronous communication and Asynchronous

communication.
[Risie sivafasaq vid 2URisIAU 51P4A5U4 422 dglad Sl

A digital source generates five symbols with the probabilities 0.27, 0.22, 0.25,

0.17, 0.09. Find the Huffman code.
w5 (3222 2300 Wi udlsl 0.2.9, 0.22, 0,21, 0.1, 0.0 <l U+l U1
GeUeed 52 69, d<ll Huffman 513 2UAL

Compare low speed, medium speed and high speed MODEM.
dl 21ls, HlEAH Ul 24 1 2uls HIZH <l datel 53,

Differentiate between DTE and DCE.
DTE i<l DCE 422 d3lad w41,

Discuss about various Bluetooth applications.
ogza<l [Alaa Gualoilal [Agl 2l 52,

Discuss Simplex, Half duplex and Full duplex serial Transmission mode.

[Raveasa, s1s s v g ras [ 2izlue (49 221 53,

*khkkhkhkkhkiiiikk

3/3

04

oY
07

09

04
oY
04
oY
03
03

03
03



